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Disclaimer

e The information in this presentation is for educational purposes only and is not
intended to be a recommendation to purchase or sell any of the stocks, mutual
funds, or other securities that may be referenced. The securities of
companies referenced or featured in the seminar materials are for illustrative
purposes only and are not to be considered endorsed or recommended for
purchase or sale by Betterinvesting™ National Association of Investors
Corporation (“Bl”) or the National Investors Association, its volunteer advisory
board (“BIVAB”). The views expressed are those of the instructors,
commentators, guests and participants, as the case may be, and do not
necessarily represent those of Betterinvesting™ or BIVAB. Investors should
conduct their own review and analysis of any company of interest before
making an investment decision.

e Securities discussed may be held by the instructors in their own personal
portfolios or in those of their clients. Bl presenters and volunteers are held to
a strict code of conduct that precludes benefiting financially from educational
presentations or public activities via any Betterinvesting programs, events
and/or educational sessions in which they participate. Any violation is strictly
prohibited and should be reported to the President of Betterinvesting or the
Manager of Volunteer Relations.




What We Will Cover

 What is Return on Equity

e Why it is important

e What it means when Return on
Equity declines




Management

* Management only has two jobs.

- Make money—we look at Pre-tax
Profit as a % of sales ~

- Spend the money in such a way that
they will make more money in the
future. This is called Return on Equity




——————————————
Return on Equity (ROE)

2 EVALUATING MANAGEMENT Company

LASTS | TREND |
Year | | _ _ _ | _ _ | _ | YEARAVG. | UP | DOWN |

A 96 Pre-tax Profit on Sales
[Met Before Taxes « Sales)

% Earned on Equity
B (£ BookValue)

* The first line in Section 2 tells us
if management can make money.

e Second line in Section 2 tells us if
they can use these earnings to
grow future earnings.
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Return on Equity

e Assets are everything the company
owns

e Equity is the amount of the
company assets owned by the
shareholders

e Return on Equity tells us if
management is spending the
earnings on assets that will
generate more revenue




Earnings
New assets generate more sales

Earnings used to create new assets




e ——
How Important Is ROE?

* The primary test of management
economic performance is the
achievement of a high earnings
rate on equity capital employed
(without undue leverage,
accounting gimmickry, etc.) and
NOT the achievement of
consistent gains in earnings per
share. *

e *Warren Buffett, Berkshire Hathaway, 1979 Annual
Report




Return on Equity

* Not dependent on how large the
percent of pre-tax profit is.

Sysco

2006 | 2007

4.3 4.6

27.4
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What is a “Good” ROE?

“The investor usually finds the
greatest opportunity in companies
where the percent earned on
equity is above 20 percent. This
is a very significant indicator of
the rate at which shareowner

value is increasing.”
Starting and Running A Profitable Investment Club,

page 96 (1998 edition)




What is a “Good” ROE?

LAST &
YEAR AVG.

4.7

2004 ‘ 2005 ‘ 2006 ‘ 2007 ‘ 2008

5.0
33.8 | 33.5 |27.4 | 29.%9 | 31.9

5.0 | 4.3 | 4.6

o 20% or better is excellent

e 15% is average

e If you see a lot of single digit
numbers management is not doing
a good job




Compare with Competitors

1 14.5 14.1‘15.2‘15.3‘14.?

% Eamed on Equity
{E/5 + Book Valus)

B ok vae, 1(7.3 9.1 ‘11:.5 8.4 ‘ 9.1 ‘m.g

Do more than look at the trend
e Look at the numbers




Return on Equity
e Three things affect ROE

— net profit margin
— asset turnover rate
— financial leverage
e If any of these go up, ROE will go

up
e If any of these declines, the ROE
goes down.




Return on Equity

e A decline in ROE can mean
— Expenses are getting out of control

— Money is being spent on assets that
will not produce future income

— The company has paid off some of
their long term debt

e Two of the above items are early
warning signs of serious problems




Example 1
Net Profit Margin Declines

Abbott Labs




Net Profit Margin

e Net profit margin is the net profit
expressed as a percent.

- Example- A company could have
$60M in sales and $6M in net profit.
They would have a net profit margin
of 10%.

* Net Profit divided by Sales equal
the Net Profit Margin.




Net Profit Margin

e Only difference between net profit
and pre-tax profit is taxes.

Sales
minus Expenses
equals Pre-tax Profit
minus Taxes

equals Net Profit




————————————
Net Profit Margin

e Generally if both the pre-tax profit
and the Return on Equity go down
in the same year, you will find the
reason ROE declined was due to a
problem with Net Profit Margin.

2 EVALUATING MANAGEMENT Company ABBOTT LABO 2005 /2006 | 2007 LAST

YEAR AVG.
1998 (1999 (2000 | 2001 | 2002 2003 | 20

wReEPiion S22 a0 n|27.2|26.8|21.8|24.4 23.3 |23 22.9(122.4| 20.9 22.7

A {Mat Before Taxes - Sales)

% Eamed on Equity
B £/ » Back Valse) 40.1 (34.4|321.0(28.8 | 30.2 26.4 |24

26.5\27.7| 24.6 26.0




e If this margin between net
profit and sales declines it
is an early warning sign of
trouble

* The company is not
controlling expenses

A

Net Profit
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Return on Equity

e What if our company that had
sales of $60M and a net profit of
$6M during the next year had
sales of $70M and a net profit of
$6.8million

— Sales are going up; earnings are
going up

— Net profit margin declined to 9.5%,
an early warning sign of trouble




Net Profit Margin

* Why be concerned if the Net Profit
margin declines
- It is an early warning sign that

expenses are growing faster than
sales

- Eventually the earnings will decline
and the price of the stock will drop




Net Profit Margin

e We need to do three things when
the Net Profit Margin declines
— Find the problem

- Find out what the company says they
are going to do about the problem

- Decide if we are going to hold or sell
the stock




Abbott Labs

* Find the problem by comparing
the growth rate of sales with the
growth rate of various expenses

2007 2006 % Change
Sales $25,914 20 | $22,476.30 15.30%

Cost of Goods Sold $11.422 50 $9.815.10 16.30%

Research & Development 32,505 60 32,255 30 11%
Selling, General & Administrative 57.407.90 $6,349.70 16.60%
Interest Expense $593.10 341610 42 50%

e The numbers are on the Income
Statement




Where to Get Information

e One of the best sources of
information about sales, cost of

goods sold and overhead is the
10K or 10Q.

- Read the Management Discussion
and Analysis.




———————
Abbott Labs Net Profit Margin

o Causes of the decline

- Higher commodity costs
- Expenses associated with
acquisitions

— Increase in bad debt reserve
associated with an unfavorable court
ruling




NET Profit Margin

e Do your research

* Find out what the company plans
to do to reduce expenses

e Decide if you are going to keep
the stock or sell




Example 2
Asset Turnover Rate Declines

3M




Sales

Earnings are used to create new
assets that will grow future sales.

Compare sales to assets Earnings

New Assets

TS
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Asset Turnover Rate

e Asset turnover rate tells us how
well management is using the
assets to grow sales.

 Divide sales by assets to find this
ratio.




Invest in New Assets

e Good management will invest our
equity in new assets that will
grow future sales and earnings.

— New stores or factories

— New products
— Open up new markets
— Acquisitions




Asset Turnover Ratio

e What determines a “good” ratio
varies from industry to industry.

— Compare companies in the same
industry.

* Higher numbers are bhetter.




Asset Turnover Ratio

}) | 2001 | 2002 2003 | 2004 | 2005

d | 16.7 (19.6 20.6 | 22.8 23.7

11 28.0(34.2 30.7 27.9 32.0

e If the Pre-tax Profit increases or stays
the same then generally the net profit
margin will be growing.

e 3M has problem with the asset
turnover rate or financial leverage.




Asset Turnover Ratio

Year Sales Total Assets Turnover Hatio
2006 322 923 321,294 1.07

2007 24 462 524 6594 0.99

e In 2006, 3M generated $1.07 in sales
for every dollar of assets. In 2007 it
dropped to $0.99.

e Our Shareholder Equity (retained
earnings) was invested in assets that
were not generating new revenue.




Asset Turnover Ratio

e Assets are listed on the Balance
Sheet

e Start by checking these four
assets

- Cash on hand
— Receivables
— Inventory

- Goodwill

* They should all grow about the
same rate as sales.




3M Asset Turnover Ratio

2007 2006 % Change
Sales 524 462 522,923 6.70%
Cash on Hand 31,896 51,447 31.00%

Receivables 53,362 $3.102 5.30%
Inventories 52 652 52 601 9.60%
Goodwill 34 589 34 064 12.40%

 All of these assets grew faster than
sales and none of them contribute to
future sales and earnings

e Early warning sign of potential
problems.




Cash on Hand

e Companies need a certain amount
of cash on hand.

e Excess cash generates very littlie
revenue.

e Do they have plans for using the
excess cash?

— Acquisitions
— New stores or factories
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Receivables

e Receivables should grow about
the same rate as sales.

 Why aren’t customers paying?
— Industry problem?
— Is the company stuffing the pipeline?

e If the Receivables continue to
grow faster than the Sales it will
eventually create a cash flow

problem




Inventory

e Should grow about the same rate
as sales.

e Why the excess inventory?
- Management error?
e Will the inventory become

obsolete and have to be written
off?




Goodwill

e Usually comes from an acquisition

* As long as the amount stated can
be justified it can remain on books

— If it can’t be justified must be written
off




Asset Turnover Ratio

e Large increases in receivables
and inventory are often very early
warning signs of trouble.

e Section 2 Row B is only place on
the SSG that will warn you to
check these items.




Asset Turnover Ratio

e Much harder to find causes and
proposed solutions to these
problems.

 Management does not have to
explain increases In assets unless
shareholders ask.




Example 3

Leverage Declines
Schlumberger LTD




Sales
A company has three ways

to obtain money to buy new
assets

- Retained Earnings
— Sell more shares
- Borrow money

Earnings

ST
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Financial Leverage

 Financial leverage (borrowing
money) is not necessarily a bad
thing

* Financial leverage will increase
the ROE if it is spent on assets
that create future sales and
earnings.




Financial Leverage

* There is a risk to borrowing
money
— Interest has to be paid.

— The borrowed money had better add |
more to the bottom line than the
interest costs.

e If a company borrows money we
want fo see the ROE increase.




Financial Leverage

e If a company borrows money they
will eventually have to repay the
loan with future earnings

* The earnings used to repay a loan
are not creating new assets and
so will cause the ROE to decline




Financial Leverage

* The Financial Leverage Ratio tells
us how much a company is using
borrowed funds.

 Divide the Total Assets by the
Shareholder Equity to determine
the financial leverage.




Schlumberger LTD

12.1 15.0

e Net Profit did not decline

e Asset Turnover Rate stayed the
same

Schlumberger Sales Assets Turnover Rate
2006 $19,230.50 $22,832.10 0.84
2007 $23,276.50 $27,853.40 0.84




Balance Sheet Numbers

CONSOLIDATED BALANCE SHEET
(Stated In thonsands) .
e ssets an
ASSETS
Current Assets -
Cash § 723§ 185817 s h
Short-term investments 2971300 2,833,060 a re o e r u I
Receivables less allowance for doubiful aceounts
(2007 — $85,780; 2006 — $114,654) 561,114 4.242,000
Inventories 1.688,102 1,246,887

Diefarred taxes 182 562 162,884
LA w = | are Balance Shee

11,055,352 0,185, 62

Fixed Income Mnvestmenis, keld to maturity 440,127 153,000
Fuvestments in Afftliated Companies LAIZ180 1208328
Fired dssets less accumulated depreciation 8,007,001 B.AT, 141 “ u m e rs
Multichient Seismic Data 182,282 226,581
Goodwill 5142088 4088558
Intanaible Assels 9W2,700 007,874
204,745 4120

Assets = == o DPivide total Assets

Current Ligbilities

Acoounts pagable and accrued liabilities $ 4,560,728 § 2848017
Estimated liability for faxes on income 1.071,858% 1,136,520 a re o e r
Diridend payable 210,500 148,720

Long-term debt—current portion 638,632 602,010

Convertible debentures 253,408 - - -

Bank & short-term loans 670,504 TIR610

T o quity o determine
Convertible Debentures 415,897 1424000
Other Long-tevm Debé 3978560 3238082
Postretivement Benefits 840,311 1,096,160
Other Liabilitics 15075 357,340 eve ra e
12,915,608 12,412,255

Minority Interest 61,881 -
Stockhelders' Byuily

Common stock 4,136,363 3,381,040

Ineome retained for use in the business 15,461,767 11118478

Traasanre atank at anck (2.540,242) (2,011,708)

- (1.172,904) (1,168,740
Shareholder Equity &= &

Sea the Notes fo Consolidated Finoncial Stalemenis




Financial Leverage

Schlumberger Assets Shareholder Equity  Leverage
2006 22,632 10,420 2.19
2007 27833 14,876 1.87

* Financial leverage will decline
when a company pays off long
term debt.

* This is the only time when a
decline in ROE is a good thing.




Financial Leverage

2004 |2005 | 2006 [ 2007 [2008 [2009 | ©VALUE LINE PUB, INC] 11-13

975 [ 1215 | 1833 | 1947 | 23.05| 25.70 |Sales persh 35.00
216 | 286 | 451 584| 6.80| 7.55|“CashFlow” persh 9.45
103 167 | 304| 418 4.80| 525 |Earnings persh A 6.30

38 41 A8 10 81 84 |Div'ds Decl'd per sh B 95

T8 [ 1% | 200 245| 350| 3.25 [Cap' Spending per sh 2.5
520 | 645| 885| 1244| 1595| 20.50 |Book Value per sh © 33.10
TT77.0 | 11776 | 1177.9 | 11955 | 1200.0 | 1200.0 [Common Shs Outst'g © | 1200.0

303 237 205 20.0 | Boid figyres are  |Avg Ann’l P/E Ratio 20.0
1680 | 126 | 111] 105 Vﬂh_f,iﬂne Relative PIE Ratio 1.35
12% | 10% | e | 8% | ="P™ |Avg Ann’l Divd Yield 8%
11480 | 14309 | 19230 | 23277 | 27670 | 30850 |Sales ($mill) 42000
252% | 28.7% | 33.6% | 38.2% | 35.5% | 35.0% |Operating Margin 32.0%
13079 | 13510 | 15814 [ 157="—===="—=200 [Depreciation ($mill} 3600
4711 51 50 | Net Profit ($mill) 7725
14663.9 r_u% 2 3794.5 % |Income Tax Rate 23.0%
T WE.E% zzﬂ 21.3% | 20.9% |Net Profit Margin 18.4%
23506 [ 3039 (0.9 | 3550 4700 | 4500 [Working Cap'l ($mill) 5000
3944.2 | 35013 Fﬁm 37945 | 3600 | 3600 |Long-Term Debt (Smill) | 4500

* An easy way to check Financial
Leverage is to check Long Term
Debt in Value Line




Review

e Three items affect the Return on
Equity
— net profit margin
— asset turnover rate
e Balance Sheet items
— financial leverage

e If any of these declines, the ROE
goes down.




Review

* A decline in Return on Equity can
be an early warning sign of a
developing problem or it can be a
good thing.

e Must determine what caused the
decline.




The End is Here
Tye Management has two jobs

L/ - Make money

- Spend money

\| « When the ROE numbers go
down:

Conclusions

— Find the cause - research
- Make a decision - judgment
- Take action




